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Unit 2           Theory of Quadratic Equations 
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If 𝛼, 𝛽 are the roots of equation  

3𝑥2 + 5𝑥 − 2 = 0, then 𝛼 + 𝛽 is 
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2 
If 𝛼, 𝛽 are the roots of equation 

 7𝑥2 − 𝑥 + 4 = 0, then 𝛼𝛽 is 
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3 
The roots of the equation  

4𝑥2 − 5𝑥 + 2 = 0 are 
Irrational Imaginary Rational 

None of 

these 

4 The cube roots of −1 are 


−1, −𝜔, −𝜔2 
−1, 𝜔, −𝜔2 −1, −𝜔, 𝜔2 1, −𝜔, −𝜔2 

5 The sum of cube roots of unity is 0 1 −1 3 

6 The product of cube roots of unity is 0 1 −1 3 

7 
If 𝑏2 − 4𝑎𝑐 < 0, then the roots of 

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 are 
Irrational Rational 

Imaginary/  

Unreal 

None of 

these 

8 

If 𝑏2 − 4𝑎𝑐 > 0, but not a perfect 

square then the roots of  

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 are 

Irrational Rational Imaginary 
None of 

these 
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10 𝛼2 + 𝛽2 is equal to 𝛼2 − 𝛽2 
1

𝛼2
+

1

𝛽2
 𝛼 + 𝛽 (𝛼 + 𝑏)2 − 2𝛼𝛽 

11 The square roots of unity are 1, −1 1, 𝜔 1, −𝜔 𝜔, 𝜔2 

12 
The roosts of equation  

4𝑥2 − 4𝑥 + 1 = 0 are 
real, equal real, unequal imaginary  irrational  

13 

If 𝛼, 𝛽 are roots of equation 

 𝑝𝑥2 + 𝑞𝑥 + 𝑟 = 0, then the sum of 

roots 2𝛼 and 2𝛽 is 
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14 

If 𝛼, 𝛽 are roots of equation 

𝑥2 − 𝑥 − 1 = 0, then the product of 

roots 2𝛼 and 2𝛽 is 

−2 2 4 −4 

15 
The nature of the roots of equation is 

determined by  
Sum of roots 

Product of 

roots 

Synthetic 

division 
Discriminant  

16 The discriminant of 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 is −𝑏2 − 4𝑎𝑐 −𝑏2 + 4𝑎𝑐 𝑏2 + 4𝑎𝑐 𝑏2 − 4𝑎𝑐 
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